2RXS J125117.4+103913

11
D S
(@) o o o
L | i L | L o |
(A93 s zwd)/suojoyd
T T 1 LLLLRBUNLEL LR
o - |-
o]
0
0
* | ‘ _
E: | ]
m_ —
A -
| i
[TolN IR —
o~
(@]
o
0 ]
™M _
LO_ -
- |_ -
™ L —
(o))
L1 ITER ITER I
~— a
| |
o o
i —]

(A®¥ s)/syuno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

-~ o (o]
o o (@]
+ + +
= = [£3]
("] © o~
8 N Q
a ™ <
| | |
+ + +
a o -~ o —
(@] — (@] o o
| | | | +
[ 23] [ [ =]
™ — (np] © -~
2 e
[s0] < (o] o -
Il
() 1]
-
© — Il
S ] >
o x| < E
g 2 = — 9
n [z, z ) z
TTT T T[T
*%
R RRRRIRRERARRRRANNERY

QN — o - M

s[enpisay

1.00

0.10

X2req = 1.123

Energy/keV



